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OFF=3& 42,500,000 =14 42,500
NS =Z33 ArSY 14,000 14,000 0
= 7,000
Al 7,000
307 OSI2t01 ™ 14,000 14,000 0
& 7,000
Al 7,000
02 QIZHEAEX 14,000 14,000 0
OXNY 23t Al 14,000, 000& * 1Al 14,000
T 7,000
Al 7,000
=t & 29 142,180 111,980 30,200
201 B9y 980 980 0




AN 2ot2t2 1
M 2HTA XY
& 2att=sX2 CER:E
= X XH ol (s (=] o HASZ OH I'—-IE'—":— =2}t
N ZE .S (30) - NRAIY - BE= Off &k o Ofl At ot Hluss
01 AtR2cldl 980 980 0
03 2949 980

>23te & 2R FA+E

70,00021%701 23] 980
206 WM& 4,000 0 4,000
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ogptA 120,000& *3321 « 122 47,520
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OEAZ(H) 1,500, 000& *121+73] 10,500
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